	Date:	_
	hwar Sadguru Nityanand neshpuri Tal- Bhiwandi,	
Protective D	ubmission of Tender for "Supply, Installation, Testing and Commissioning Devices, Distribution Boards, Personal Protective Equipments etc. and association Fety works of various buildings of SBSNS Trust, Ganeshpuri."	of ted
	Your Advertisement on the Website of Shri Bhimeshwar Sadguru Nityanand Sanstha dated	
Testing and Equipments Ganeshpuri."	sir/Madam, a reference to your Notice on your website Inviting Tender for "Supply, Installation Commissioning of Protective Devices, Distribution Boards, Personal Protecticn etc. and associated electrical safety works of various buildings of SBSNS True", we hereby submit our proposal for your kind consideration. The enclose the following documents in two envelopes as per your system requirement:	ive
Envelope: I		
1.	chnical Bid Envelope Company Profile Proof of Electrical Contractor License (PWD/IE&L Department, GOM)	
	Proof of GST Registration Certificate	
	Past Work Experience for similar works	
5.	D.D. amounting to Rs.5000/-(Five Thousand Rupees Only) as EMD. cuments/certificate copies in support of above are self attested and enclosed in	
Envelope: II		
1. <u>Fir</u>	nancial Bid Envelope inancial offer in prescribed format	
Inviting T	comply with all terms and conditions in letter and spirit mentioned in the Notice Fender.	
Ensure tiMaintain	t the entire electrical safety work as per the scope of work and submit test reports. imely submission of the work completion report. professional standards and comply with all applicable IS codes, regulations and	
	es. We look forward to your favorable consideration of our Tender. nking you,	
	Yours faithfully,	
	For [Name of Firm]	
	(Signature & Seal)	
	Name:	
	Designation:	
	Contact No.:	
	= "	

Email: __

Financial Offer

To be submitted in a sealed envelope by superscribing "Financial Offer" on the envelope on the company's letter head.

Name of Work: "Supply, Installation, Testing and Commissioning of Protective Devices, Distribution Boards, Personal Protective Equipments etc. and associated electrical safety works of various buildings of SBSNS Trust, Ganeshpuri."

Sr.No.	PARTICULARS	UNIT	QUANTITY	UNIT RATE	TOTAL AMOUNT
1	Protective Devices/ Protective Busbar /Protective RCCB / MCB DB's etc				
1.1	Supply, Installation, Testing and Commissioning of Double Door Horizontal TPN MCB DB, 6-Way (Make:Indo Asian/Legrand/Equivalent)	Nos	3	8000.00	24000.00
1.2	Supply, Installation, Testing and Commissioning of Double Door SPN MCB DB enclosure, 8-Way DB (Make:Indo Asian/Legrand/Equivalent)	Nos	2	2700.00	5400.00
1.3	Supply, Installation, Testing and Commissioning of Double Door SPN MCB DB enclosure 16-Way DB (Make:Indo Asian/Legrand/Equivalent)	Nos	3	3600.00	10800.00
1.4	Supply, Installation, Testing and Commissioning of Double Door SPN MCB DB enclosure 4-Way (Make:Indo Asian/Legrand/Equivalent)	Nos	1	2300.00	2300.00
1.5	Supply, Installation, Testing and Commissioning of Double Door SPN MCB DB enclosure 2-Way (Make:Indo Asian/Legrand/Equivalent)	Nos	4	800.00	3200.00
1.6	Supply, Installation, Testing and Commissioning of C-Curve,10kA,16A, Single Pole MCB (Make:Indo Asian/Legrand/Equivalent)	Nos	100	200.00	20000.00
1.7	Supply, Installation, Testing and Commissioning of C-Curve,10kA, 20A Single Pole MCB (Make:Indo Asian/Legrand/Equivalent)	Nos	4	200.00	800.00
1.8	Supply, Installation, Testing and Commissioning of C-Curve,10kA, 32A Single Pole MCB (Make:Indo Asian/Legrand/Equivalent)	Nos	35	200.00	7000.00
1.9	Supply, Installation, Testing and Commissioning of C-Curve,10kA, 32A 2-Pole MCB (Make:Indo Asian/Legrand/Equivalent)	Nos	1	730.00	730.00
1.10	Supply, Installation, Testing and Commissioning of C-Curve,10kA, 63A 2-Pole MCB (Make:Indo Asian/Legrand/Equivalent)	Nos	1	1030.00	1030.00
1.11	Supply, Installation, Testing and Commissioning of C-Curve,10kA, 32A 3-Pole MCB (Make:Indo Asian/Legrand/Equivalent)	Nos	2	1030.00	2060.00
1.12	Supply, Installation, Testing and Commissioning of C-Curve,10kA, 63A 3-Pole MCB (Make:Indo Asian/Legrand/Equivalent)	Nos	3	1500.00	4500.00
1.13	Supply, Installation, Testing and Commissioning of C-Curve,10kA, 16A 4-Pole MCB (Make:Indo Asian/Legrand/Equivalent)	Nos	1	1650.00	1650.00
1.14	Supply, Installation, Testing and Commissioning of C-Curve,10kA, 40A 4-Pole MCB (Make:Indo Asian/Legrand/Equivalent)	Nos	1	2180.00	2180.00
1.15	Supply, Installation, Testing and Commissioning of C-Curve,10kA, 63A 4-Pole MCB (Make:Indo Asian/Legrand/Equivalent)	Nos	8	2280.00	18240.00
1.16	Supply, Installation, Testing and Commissioning of 10kA, 25A 2-Pole RCCB 30mA (Make:Indo Asian/Legrand/Equivalent)	Nos	10	2030.00	20300.00
1.17	Supply, Installation, Testing and Commissioning of 10kA, 63A 2-Pole RCCB 30mA (Make:Indo Asian/Legrand/Equivalent)	Nos	10	2750.00	27500.00

Sr.No.	PARTICULARS	UNIT	QUANTITY	UNIT RATE	AMOUNT
1.18	Supply, Installation, Testing and Commissioning of 10kA, 16A 4-Pole RCCB 30mA (Make:Indo Asian/Legrand/Equivalent)	Nos	2	2800.00	5600.00
1.19	Supply, Installation, Testing and Commissioning of 10kA, 25A 4-Pole RCCB 30mA (Make:Indo Asian/Legrand/Equivalent)	Nos	5	2950.00	14750.00
1.20	Supply, Installation, Testing and Commissioning of 10kA, 40A 4-Pole RCCB 30mA (Make:Indo Asian/Legrand/Equivalent)	Nos	6	3180.00	19080.00
1.21	Supply, Installation, Testing and Commissioning of 10kA, 63A 4-Pole RCCB 30mA (Make:Indo Asian/Legrand/Equivalent)	Nos	12	3225.00	38700.00
1.22	Supply, Installation, Testing and Commissioning of 10kA, 100A 4-Pole RCCB 30mA (Make:Indo Asian/Legrand/Equivalent)	Nos	2	6300.00	12600.00
1.23	Supply, Installation, Testing and Commissioning of D-Curve,10kA, 32A, 4-Pole MCB (Make:Indo Asian/Legrand/ABB Equivalent)	Nos	2	1570.00	3140.00
1.24	Supply, Installation, Testing and Commissioning of D-Curve,10kA,16A, 4-Pole MCB (Make:Indo Asian/Legrand/ABB Equivalent)	Nos	1	1400.00	1400.00
1.25	Supply, Installation, Testing and Commissioning of Four Pole Copper Busbar 100A complete in all respect (Make : Jainson/Bharat)	Nos	1	5350.00	5350.00
2	LT Cables				
2.1	Supply, Installation, Testing and Commissioning of 4Corex35sq.mm. 1.1kV Grade PVC flexible copper cable (Make: Polycab/ RR Kabel/ Havells/ Finolex) (Locations: Nityanand Pratibha Panel Room)	Mtrs	20	2800.00	56000.00
2.2	Supply, Installation, Testing and Commissioning of 4sq.mm.,1 Core,1.1kV Grade , FRLSH PVC flexible copper cable Red Colour for MCB DB connection (Make: Polycab/ RR Kabel/ Havells/ Finolex) (Locations: Nityanand Guest Buildings MCB DB and room point wiring distribution)	Mtrs	180	148.00	26640.00
2.3	Supply, Installation, Testing and Commissioning of 2.5sq.mm.,1 Core,1.1kV Grade , FRLSH PVC flexible copper cable Red Colour for MCB DB connection (Make: Polycab/ RR Kabel/ Havells/ Finolex) (Length :90mtr Coil) (Locations: Nityanand Guest Buildings MCB DB and room point wiring distribution)	Mtr	90	90.00	8100.00
3	Cables Glands				
3.1	Supply & Installation of copper lugs for 4Cx35sq.mm., 1.1kV Grade PVC/XLPE flexible copper cable termination (Make: Braco/Elcon/Chetna/Axis or equivalent) (Locations: Nityanand Pratibha Panel Room)	Nos	16	80.00	1280.00
3.2	Supply & Installation of cable gland for 4Cx35sq.mm., 1.1kV Grade PVC/XLPE flexible copper cable termination (Make: Braco/Elcon/Chetna/Axis or equivalent) (Locations: Nityanand Pratibha Panel Room)	Nos	16	350.00	5600.00
3.3	Supply and Installation of 1.1kV heat shrinkable cable jointing kit (Make: Raychem or equivalent)(Location: Nityanand Prasad)	Nos	1	3500.00	3500.00
4	Cable Tray				
4.1	Supply & Installation of perforated HDGI cable tray 150mmx40mmx2mm (WxHxThickness) length 2.5mtr per piece (Make: Bravo/equivalent) (Locations: Nityanand Pratibha Panel Room)	No	4	3250.00	13000.00

Sr.No.	PARTICULARS	UNIT	QUANTITY	UNIT RATE	AMOUNT
5	Electrical Insulating Mat				
5.1	Supply and Installation of Electrical Insulating Mat, Type Class A,Thickness 2mm working voltage upto 3.3kV, with ISI mark Black Colour (1x10 mtr Roll) As per IS15652 (Make: Vardhman/ Duratuf or equivalent) (Location: Power House, Nityanand Prasad, Navgrah Mandir etc.)	Nos	3	13000.00	39000.00
6	Personal Protective Equipment				
6.1	Supply safety helmet durable for industrial use as per IS2925 of various sizes (Make: KARAM/ Aktion or equivalent)	No	3	350.00	1050.00
6.2	Supply safety shoes of various sizes as per IS 15298 (Part-2) (Make: TruTuff/ Aktion/KARAM or equivalent)	Pair	3	1000.00	3000.00
6.3	Supply safety rubber hand gloves 11kV as per IS 15298 (Part-2) (Make: Vidyut/Kamfet or equivalent)	Pair	2	1100.00	2200.00
6.4	Supply transparent clear Polycarbonate Safety Goggle for multi purpose industrial use (Make: Aktion /3M/ Kamran or equivalent)	No	3	199.00	597.00
6.5	Supply Full Body Tower Harness with fall protection for vertical climbing with steel trun locking carabiners, high strength 44mm polyester webbing with breaking strength of 22kN with adjustable straps (Make: Aktion / Kamran or equivalent)	No	1	4899.00	4899.00
6.6	Supply Fibreglass Telescopic Extension Collapsible Ladder for electrical works, height 4.5mtr/15feet, (Make: Prostep/Aktion/ Jon Bhandari or equivalent)	No	1	12000.00	12000.00
6.7	Supply ABS Search Light 15watt, range 1000mtr, operating time 6hrs (Make: Aktion/FOS/ Prolight or equivalent)	No	1	5190.00	5190.00
7	Sign Boards				
7.1	Supply and Installation of Danger Caution Boards in red as per IS2551 (Make: SBE/Aktion or equivalent local make)	No	14	150.00	2100.00
7.2	Supply and Installation of CPR Chart as per CEA reg. (Make: SBE/Aktion or equivalent local make)	No	1	200.00	200.00
7.3	Supply and Installation of Panel Identification Boards, DG Boards as per CEA (Make: SBE/Aktion or equivalent local make) (Location Power House, All Building Main Panel etc)	No	50	60.00	3000.00
7.4	Supply and Installation of cable identification tags as per CEA reg. (Make: SBE/Aktion or equivalent local make) (Location Power House, All Building Main Panel etc)	No	50	26.00	1300.00
7.5	Supply and Installation of supply feeder tags as per CEA (Make: SBE/Aktion or equivalent local make) (Location Power House, All Building Main Panel etc)	No	50	20.00	1000.00
7.6	Supply and Installation of supply direction tags as per CEA (Make: SBE/Aktion or equivalent local make) (Location Power House, All Building Main Panel etc)	No	50	10.00	500.00
				Total (excluding GST)	Rs. 442446.00
	Quoted percentage(above/below) (Corresponding Amount in words :)			,	+/- Rs
			,	Total (excluding GST)	Rs
				Add GST(%)	Rs
	(Amount in words :)	Grand Total	Rs

Declaration by the Bidder:

- 1. I/We shall carry out the entire electrical safety work as per tender conditions and submit the work completion report strictly.
- 2. I/We shall adhere to the scope of work and timelines specified in the Notice Inviting Tenders

Yours faithfully,

For [Name of Firm] (Signature & Seal) Name:	
Designation:	
Contact No.:	
Email:	
Place:	Date: